/ 4‘ % é kolme desimaalia, toimintojen jérjestys suluilla

Nimi: Paivamidara:  Pisteet:
(51,3 +21,6)+9 = 4,6 +4)x2,2=

3,6(4,6 +6,9) = 4,1+2,7)x5=

(5,7+3,6)x3,3= 5,74,8-5,9) =

6,6(3,1 —4,3) = 4,8(6,5+5,9) =

5,52,6-3,7) = (37,1 —29,4)+ 7=
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/ q& % é kolme desimaalia, toimintojen jérjestys suluilla

Nimi: Paivamaara: _ Pisteet:
(51,3+21,6)+-9=28.1 4,6 +4)x2,2=18.92
3,6(4,6 +6,9) =414 4,1+2,7)x5=34
(5,7+3,6)x 3,3 =30.69 5,7(4,8—5,9) =—6.27
6,6(3,1 —4,3)=-792 4,8(6,5+5,9)=59.52
5,52,6-3,7) =-6.05 (37,1 -29,4)=7=1.1
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